Survolume d'origine pluviale (m3)
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PM1_BOURG OUE{QT_TP

Réaction a la pluie

y =13,813x - 12,185
Rz = 0,9925
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Survolume d'origine pluviale (m3)

180

PM2_BOURG OUEST

Réaction a la pluie

y = 22,46x - 14,963

R2=0,9608
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Survolume d'origine pluviale (m3)

700

PM3_BOURG NORD

Réaction a la pluie

y = 89,08x - 91,855
R2=0,9792
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Survolume d'origine pluviale (m3)

3000

PM5_REPUBLIQUE/CHETILLONS

Réaction a la pluie

y =350,29x - 186,42
R2=0,9816
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Survolume d'origine pluviale (m3)

25

PM6_BAS DES AUGES

Réaction a la pluie

y =1,9682x - 2,1608

R2=0,5629
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Survolume d'origine pluviale (m3)

2500

PM7+PM9 _ AMONT STEP

Réaction a la pluie

y =462,13x - 81,796
R2 = 0,9966

2000

1500

1000

500

/

0,0

0,5

1,0

1,5

2,0 2,5

Précipitation (mm)

3,0

3,5

4,0 4,5

5,0




